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1. Givon the binamial distribution function,
(@) Find ite mgf, e . [2marks]
®) Using the result in part () fxovo. ealculuta its mean, variance and skewneu {6 marks]
(¢) Qivan that § ~ binomial(100,0.3). Use the normal power lpproxsmndon uchmquo to find the
76Lh percentile, {5 marks}
2. Given that _
fi(z) = 05,02,03 for z=0,1,2 J
Ja(x) = 0.3,0.5,02 for z=0,1,2 ‘ ‘
Ji(r) = 0.2,03,08 for zwm0,1,2
Find the moan and variunce of S = X + X3 + X3 [6 marks]

3. Suppose that the insurer has a lincar utility function. Find the minimum premium the insurer can
accept for a risk X {4 marks]

4. Lot X ~ U(1,3) and ¥ ~ U(1,2). Determine thae distribution of S = X + Y. [4 marks)

8. A decimion maker’s utility function is given by

u(w) = —e~ W

The decision maker has two economic prospects available. The outcome of the first proapect (X) haa
a normal distribution with mean 8 and variance 3. The outcome of the second prozpect (Y) has a
normal distribution with mean 7 and variance 3.5. Which prospect is more preferrable? (3 marks]
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